BHBENE (MEBESREONK (EERLOSESE]) aD

1. BHUBEABOEMICONT

202449 A DE BHEEHE (FUA, LNG. B ROME) NMARENIZZ LIS, 202457 R ~2024459 A O FHREHEHATEE L F L72DT. 04£12A5BEHEOMH
HESHBEONBESMNOELET,

2. HEHRT

OMBBEROXT OMtML=/\—H LY —ERREDHT

2024465 ~2024488 2024478 ~20244E98 202446 5 ~202448R 2024478 ~202459R

T EiifE ERIE EIE

BN 85,706 Akl 82,043 Ak B B 1 85,706 Akl 82,043 Akl
FHLNGMM® 94610 Mt 93,635 At BB T P 85,700 Akl 82,000 Akl
1 o R M 5 23973 At 23,209 A/t
BN 48600 Akl 47100 Ak

TR, 100FRBEEA,
3. MHRSMBHER

XM ES B EE A RS RLUAEBATHYET,

X0UE AN DIHESRREMIE, EARET 5BR - HABEXIBICE HE3IE% (2F50H/KIh) DEETT .,

OEEH# (100VEL(X200V) DEFESEDHRE
- RRFGHEOBRE (CEARCHELTHEEEXBLLWEZELTNSHEE)

= 7 (N G R S AT | AR Gl
» 1 ZHBAD 9khE T (A 50 M 04 £%) A 72 [ 54 8% - A 52 [ 47 20 [ 07 #£
e 9kWh%EZ 2% 1khhi=oE (A 5 M 56 &%) A 8 M 06 £ - A 5 M 83 2 M 23 &
EiEs (A 5 M 56 £) A 8 M 06 £ - A5 M 83 2 M 23 &
% () WIHESIEMORETY .
- REMSHEORE (CHAShIBRBISECTREEEXBLLEENTNSHRE)
EE Tl D L —— £
1WETD 14TIZDE (A 21 /[ 58 £) A 31 [ 29 & - A 22 [ 60 £ 8 M 69 &
100% Z R 20WETD 1 4TS D& (A 43 M 15 %) A 62 M 57 8 - A 45 [ 21 8 17 M 36 £
200 C RANETD 1T DE (A 86 M 27 £) A 125 0 11 & - A 9 [ 37 & 34 [ 74 8
e 40W%E Z Z6WNETD 14TI=DE (A 129 [ 45 %) A 187 B 71 £ - A 135 M 57 £ 52 M 14
/RiiigA 60NZE = X 1000ETD 14TI=DE (A 215 1 72 £%) A 312 M 82 & - A 225 M 94 & 86 M 88 #%
1001Z %% 14TISDE500ETS &= | (A 107 F 87 £8) A 156 [ 42 £ - A 112 1 97 8 43 M 45 $%
SOVAE T 14#4851c>F (A 64 [ 42 £2) A 93 [ 42 8 - A 67 [ 46 £ 25 [ 96 %
;g%’ 50VA% Z X 100VAE TO 1#38(< D (A 128 [ 87 £%) A 186 [ 88 £ - A 134 1 97 8 51 M 91 &
WOAE=AS TRBEOSMETE [ (4 64 [ 42 £8) A93MH A28 - A 67 /46 8% 25 M 96 &
BEEISSVAZTOHAE (A1 FH 74 88) A2 M52 8 - A1 M8 0 M 70 £
HEBNE0VAE Z X 100VAE THIBE (A 3 /@ 47 £8) A5 M 04 g% - A 3 M 64 % 1 [ 40
(E;ﬁﬂg%'g;) ﬁf%ﬁ‘wow&:iSOOVAi'EU)ﬁSWOVAi'E (A 3 M 47 88 A5 M 0482 _ A 3 M 6482 1 /M 40 82
HEBMN00VAZ Z X TKAETOHE (A 34 877 ) A 50 [ 42 g - A 36 [ 41 £ 14 M 01 &
EESNTKAZ A SKAZTORETKAET | (4 34 1 77 88) A 50 [ 42 8% - A 36 M 41 8% 14 /01 8
P ZHEAN0. SKIDBE, 1HIZDE (A 18 M 26 ££) A 26 [ 49 8 — A 19 [ 13 £ 7 M 36 &
ZHBAMN KL LEDBE, 1KW1 BICDE (A 36 M 53 £) A 52 [ 98 £ - A 38 M 26 £ 14 M 72 £
RRENA 1824z 0% (A 555 M 39 %) A 805 M 39 £ - A 581 M 70 £ 223 M 69 &

X () MIFESIEROHEETYT .



<BE>PHREABHMORR
MCAEBEMLMEBATHY ET,

- RRFSHROBE (CEARICHLTHREEIMLWEEDTVSHEE)

20245128 7
k2 PRESEESE | @0 negEeag| BN RS T
1 BUBDO OKIhET A52F 47 8 A52 4T 8 0008
REEBITA
oklih%E = 2% 1K= D% A5 838 A5 838 0008
o tBHY  |#EEAB - C. EEEAGE A5 838 A5 838 0008
HE rmsl [ A5 838 A 5838 0 F 00 4%
» EEEHSHEOBE (CHEASAIBHICELTHREZEIRLVEEDTHSHEE)
20245 12A %y
7 PERSWERE | (B AREREE | Py An L LI
1WETD 14TIZDE A 22 [ 60 £ A 22 [ 61 8% 0 Mol
100% Z R 200ETD 1 4TISDE A 45 /M 21 8 A 45 /M 23 &% 0 M 02 %
20WE Z ZANETD 14120 & A 9 [ 378 A 9 [ 42 8 0 M 058
b 40WEZ Z6ONETD 14TI=D & A 135 M 57 £ A 135 [ 64 8% 0 M 07 &
RERA 60W% Z 2 100WETD 1 4TISDE A 225 1 94 £ A 226 M 06 &% 0M 128
DNRETRIT A
1000£ 2 % % 1 4TI=DE500E T & 12 A 112897 8 A 113 /8 03 8 0/ 06
SOVAE T 1 I D% A 67 M 46 8 A 67 [ 50 8 0/ o048
%‘%‘ 50VAZ% = X 100VAETO 1 I D% A 1341 97 8 A 135 [ 04 2 0/ 078
100VA% % 5 1 #38IS D EEOVAE T &1 A 67 M 46 8 A 67 [ 50 8 0048
BEBNOVAZTOBHE A1ME82 8 A1TFB8 8 0/ 008
REBAGVAZ S X 100VAE TOHE A3 648 A 3648 0/ 008
JERBAA . [eEmEai00E S RS00VAE TOBAI0VAE T LIS A 3648 A 3648 0 M 00 8%
BEBAGVAZ C X 1KAETOHE A6 M 48 A 36438 0/ o028
BEBA1KVAZ C X SKAETOBE 1KAETT &12 A6 M 48 A 36438 0028
2HEHH0. 5NDJE. 1 BISDE A 191138 A 19 [ 14 8 0 Mol
e ZHBAMNNLEDHE, 1KN1BISDE A 3826 8 A 38288 0/ o028
RREHA 1B E A 581 @ 70 $ A 582 [ 00 $ 0/ 308

tEEBA%R Y FI—I K&t



